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4. The below mess-of-op-amps circuit has four input voltages: A, B, C, D. Find the
equation for the output voltage V5 in terms of the four input voltages. Show work
for partial credit! = N 3
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5. You are trying to 1111d(lars§ant1 the behavior of a device with two terminals. When
you measure the voltage between the two terminals with a digital voltmeter you get
5 V. When you attach a 500 € resistor between the two terminals you measure 4 V.
f_—/ Calculate component values for a Thévenin equivalent circuit for the device and
Vir= > draw that equivalent circuit. If you attach a 100 € resistor between the terminals,
how much power will be dissipated in that resistor?
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